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1. The forward voltage drop across a diode is about. U% B35 Uz Y MNe?d &fa % g o
v 7 /

[A] 2.5V [B] 3v [C] 10V (D] 0.7v
2. An ideal diode is one which behaves as a perfect when forward bi ¢ o
3 .. .whe ased. Ud Aizd mume
qg Bl § o BRAS ares @ W uthde. . .. a8 wawr s 2
[A] Conductor, 84X [B] Insulator, s'ﬁétzz [C] Resistance material, Ufd7y ammh

[D] None of the above, JUad o 9 P T8t

3. Four 2 F capacitors are connected in series. The equivalent capacitance is, 917 ,r FfoHz:

frae ¥ 93 82?1 99qe uig

(A)8F (B)O.5F (C)2F (D)6 F

4. The potential difference-across a 10uF capacitor to charge it with 10mcC is, 10uf HOdrzr Z7

mmcﬁmﬁfaﬂ:‘r%mmm%
(A)10V. (B)1kV  (C)1V (D) None of these, JURTad H @ 1% T2t

5. Four 2 F capacitors are connected in parallel. The equivalent capacitance is, F7 - HOEZ7

AR 7 93 g8 &1 ngw Ui &)
(A)8F (B)O.SF (C)2F (D)6F

6. In a series a.c. circuit the voltage across a pure inductance is 12V and the voltage across 2 pure
resistance is 5V. The supply voltage is, TdH e # 2. WaIe § IWeHd U7 dees 12v ¢
3R RS a.c. URRY sv &1 YRS dieew 2

(A)13v  (B)17V (Qy7v (D) 2.4v

7. Inductive reactance results in a current that, {THATHS Uﬁqﬂﬂ & uumTEET um IaE
gidl &1

(A) Leads the voltage by 90deg, dleed &1 90 f&Ut & @ e % (B) Is in phase with the
voltage, dlcesl & 9IY =U H gl

(C) leads the voltage by 45deg dlcesl @l 45 S a6 & war % (D) Lags the voltage by
90deg, dieed ¥ 90 fSUlt divs

8. A 10-Q resistor is connected in parallel with a 15Q resistor and the combination in series with 2 12
Q resistor. The equivalent resistance of the circuit is;, T® 10-Q P 150 & IY FHARR R

WIS &1 120 & FY fH@e # §igT 9Id1 g1 WPl H A Ul 21
(A)370Q (B)18 0 (C) 27 Q (D)4 Q

9. Power transformers are generally designed to have maximum efficiency around, UTa3 CI_BTHY

MW AR W fibdy cardr & foru Siomea fhu o &)

A. No load, aﬂé YR ol B. Half load, 34T HX C. Near full load, ‘IUT YR ¥ e
D. 10% overload, 10% 3MfYHR

10. Which of the following is not standard voltage for power supply in India, ﬁaﬁﬁf@a 74 af}:{

/N YRA & faordt omgfd & R ame diew 7@ 2

A.11kVv B. 33kv C. 66 kV D. 122 kv



11 Current flow from hand to hand is called, 81 9 #1e B T & URI yAE Bl HEd 2 )
A. Step potentlal, FTH A B. Touch potential, % &7 C. Amperage, AHGIA
D. None of the above, 3URal 1) ) g 1l

12. Minimum distance for placing signal before and after PTFE in Traffic direction?, JIdI41d feam o
Preg 8 g O g A fiya i & e gaan g

A.400m,250m  B.500m,300m €. 400m,200m D, None of these, 3431 # 31 #15 T
13- Whatis auto closing time of Cn?, c @1 waq: e oy a3

Alsec  B2sec (.05 sec D None of these, JUlad ¥ 4 &4 T
éa. What is the minimum implantation on main line.., H®I @54 gy YAdH g@reyq faan

A.235m  B.2.36m C.2.37m D. None of these, JURTad # 3 #1é 4t
15. What is the minimum embedded portion of OHF mast in foundation?, fAd o e H&Jd &1

AL45m - B135m  C140m D, Noneof these, JWIdd # ¥ @15 77

16. What is maximum stagger at S. location?, S.| R ¥ Sferpey STHBE AT 82
A.200mm B.100mm C.150mm D. None of these, JURIdd g W;a; :f??f

17. What is the standard distance of G jumper from mast?, HYJd ¥ ¢ SR Pt HA% Q'U E21f

82

A.5.6m B.5.0m C. 6.0m D. None of these, JURIHT & & FTE T

18. What is maximum OHE span with Section Insulator?, Jae 5’7\‘?@@? & Ty s OHE
T @ e

A. 45m B. 63m C. 54m D. None of these, SWad d q ﬁé :r(ff

19. What is maximum span of OHE with LC gate? LCTIC & Iy OHE @I fihay 3afy =y
g2

A. 540m  B. 585m  C 63m  D.Noneofthese, SUIGd ¥ ¥ B Tal

20. What is the material of operating pole? TR Ui P gEEh HJ %?

A. Plastic}?m%?ﬁ B. Synthetic resin bonded glass fiber, RAfeHIT 3{{3ﬂ AN BIga}

C. Porcelain, (il fﬁg? & g D. Plastic synthetic, wifes Ridfesw

21. What is the minimum distance for signal to be placed before I0L?, oLd %’ﬁ Rua @ &

feru =mam g8 @ g

A. 120m  B. 100m  C. 150m D. None of these, SUad H ¥ HIg gl
T R 82

22. What is standard distance between two I.R bonds?, 3l 1.r 9 & o9 79D @ %

A. 250m B. 350m C. 200m D. None of these, IWed # I ﬁﬁ

T8l

- .
23. What is the LA rating on LV side (25KV)?, LVEISS (25 Pdl) W 1A ERI
A. 40KV  B. 35KV C. 42KV D. None of these, IR | & HIg !



orbing moisture?, 7t & aqafyd HE

24. What is the color change of silica gel crystals after abs

-%mwwmmmwmév

A.Blue to Pink, Har 9 ’Fﬂaﬁ B.Blue to White, frar @ e
C.Blue to yellow, Her @ dian D. None of these, Judad o a iﬁé 1é!

25. What is pre sag of conventional regulated OHE?, yRufie ﬁﬁUﬁm OHE Pl ot & @ 27
D. None of these, TGl q 4 CaE

A. 50mm B. 100mm C. 150mm

26. What is the minimum contact wire height at LC gate? LC e QR GAdH dgdh R fip Gﬁﬂ'g
1 82

A. 5.6m B. 5.5m C. 5.4m D. None of these, RISCICT] 79 ﬁé

is the working clearance near OHE? OHE® U e faayd & %?
D. None of these, m T3 m’r% :[Eﬁ
ATD?(load:effort), ATD @ frafd &

27. What

A. 3m B. 4.0m C. 2.0m

28. What is mechanical advantage of 3 pulley regulating
it @ gt @ it T e (R IR
A 41 B. 5:1 C. 31 D. None of these, IR 9 ?ﬁ‘é -'-iﬁf

29. What is the tension for Anticreep wire?, an%?p‘q dR &1 a-1d |l %?
D. None of these, IWad g aﬂ'§

B 1200kgf  C. 1500kgf

on of Earth rod cable?, 3 A5 Had d FIdH B YA

A. 1000kgf

30. What is the minimum cross secti
fpaT g2

A. 30sq.mm B. 35sq.mm C. 40sq.mm

D. None of these, RG] 73 ﬁﬁ :I_Eﬁ
Tor, ® @ one & o B FAdH

31. What is the minimum distance between two OHE in [OL?,

<& Rt @t &2

A. 200mm B. 300mm C. 400mm D.500mm

32. Standard distance of F jumper from mast in [oL? oL A J r AR P AHD @?
A. 2.0m B. 3.0m C. 25m D. 5.6m

33. What is the minimum height difference between Turnout OHE and Main line OHE at Turnout?,
aHa3e TR eHANST oHE 3R B g & g e $HaR Bl SR HI L

A. 4cm B. 5cm C. 6cm D. 7cm

34. What is pressure to be exerted by panto on OHE? U8l §RT OHE WX STdl M §l &dd
T 82
A.6kg/cm?2 B.6.5kg/cm2 C.9kg/cm2 D.7kg/cm2

35. What is the minimum implantation for mast on PF?, PFUX HXqC 2 GAdH qamq'rr T 82
A. 45m B. 50m C. 475m D. None of these, JURIad & & P13 el

36. Minimum separation between two earth pits?, a? ﬁ—épf & T@ & 'c'ﬁ'il' ;uh—']a” EEIEIEI X072
A '
5n  B. 6m C. 3m D. None of these, SURIGI ¥ P Tl



g e w0 @
37. What is drop out fuse rating of AT?, AT—""fT Tﬁ’fq T3¢ a)arg ;[ﬁ
AOSA  B20A CLOA  D.Noneofthese, SUddd H &

Afirg daré @1 82
38. What is the fixed length of dropper?, ET‘T\' CAREIE a m qfﬂ
5 (s
A.120mm B.105mm C.100mm D. None of these, JURId i

. tation?, CIqy
39. What is the authority for Tower car to enter into block section and return m@:f%r{?;r; %9
PR B KMd ARA # YIW 9 oI I R R e bl 7 '
A.T/965 B.T/1708 C.T/1350 D. None of these, qulﬂfl A 4 :I'Eff

40. What is the minimum overlapping span in UIOL? uioL H gAdH gz @ & %-’

A.63m B.54m C.67.5m D.58.5m
41. What is the standard specific gravity of electrolyte in Battery cells at 27°? 27° U dcdt Far 4

< 1 AHS AR T 22
D. None of these, SWRIed H E'T-Ff '_‘r@pf

A.1250 B.1215 C.1230
at Turnout location?, T3¢ WM TR H& g4

42. What is the encumbrance of main line OHE

OHE & YR &I &7
A.l4m B.0.8m  C.0.9m D. None of these, JWRIdd H ¥ HIF Fal

43. What is the diameter of contact wire? 0% TR &1 A fHaar gid %?

A.12.24mm B.13mm C.12.5mm D.11.5mm

44. What is the diameter of catenary wire?, -3l dR HT I fabdAr grar %?
D. None of these, JURIGd H & ﬁs‘

A.10mm B.12.24mm C.10.54mm

Tl

45. What is the minimum span length of OHE?, OHE ! gAdH WA Fﬁﬂ'&“.’ Bl %?
C.27m D. None of these, JUWRIGd | & PI3 8T

A.18m B.22.5m

46. What is the maximum contact stagger on tangent track?, wyf T 2$ W e{fﬁmm

STHITEE T g2

A.100mm B.200mm C.250mm D. None of these, JURlad H ¥ ﬁi

el

47. What is the maximum contact stagger on curve?, dé WX fYFaH TuH SIHEC &1 @2
C.200mm D.350mm

A.300mm B.250mm

48. What is the Tension of contact wire?, m dR &1 a9 fHamn E;fﬂT %?

A.800kg B.900kgf C.1000kgf D.2000Kgf

49. What is the maximum stagger for main line OHE at Turnout?, THIMIT W H©] Tg1 OHE &
forg sifepay R @r 82

A.200mm B.250mm C.300mm D. None of these, JURIGd § ¥ &Iy

Tel



50. How many BM's are there in sp?, sp 1Y fhad M s BT 80
Al B.4 C.3 D.2

51. What is maximum distance between two earth rods to work on OME?, OME U7 &1 Hi1 H

fu @ od Az & 9 sfwan & Bah ad 2.

A.800m B 1000m € 700m D. None of these, JUN%T ©of & &3

a8

52. What is the diameter of stainless steel rope used for ATD?, ATD & FE‘I'LT Ukt waAn e

W & g fda g @

A 85mm B.8&mm C.7mm D. None of these, JU3dd & & &% 38
53. How many strands are there in C- jumper?, -5ty o fdd- 33'5 gid g
A.17 B.19 C.10 D. None of these, JURIdd H & @5 &

54. What is length of stainless steel (SS) rope used for winch type regulating equipment?, 3E! gB

?ﬁﬁwm%ﬁaﬁmaﬁaﬁmmﬁa s Tl B dar A

A.11.0m B.12.0m  C.10.5m D. None of these, SURIdd & & Hig A&l

55. What is the maximum overall earth resistance of PTFE N/S? PTFE N/S &I Asam F599 qza’r

iRy @ 82

A. 0.50hm B. 2 ohm C. >10ohm D. None of these, 3431dd 73 E‘B &t
56. Condemned diameter of contact wire on Main line, ¥ g7 W q06 R Biaus =H:
A. 10mm B.12mm C. 8.25mm D. None of these, IR H# F 35T§ Teff

57. What relay will act when two different phases are bridged?, Tl ST TR TRON B ASA
wR & a1 R &1 sam:

A. WPC B. Panto flash over, T¢i TS 3ffa” C. PTFF d) SOFT

58. What type of fire extinguisher is used for electrical fires?, ﬁag?ﬁu 3 & fou 9 udR
1 ffEme 47 ®1 ITART fa e @2

A. DCP  B. water, Tl C. both a&b, ASIR B @Ml D. None of these, JWRad # I Eﬁ%

59. What is the purpose of arcing horns provided for ATs?, ATs & f%m ueH fau g P g+

P I T 82
A.as LA, AT ¥g H B. as earth, ‘{Qiﬂ P wqH C. both a&b, ASR 5 IEt

D. None of these, 3Uad H & m EGl

g ! >
60. What are the voltage ratings primary and secondary of Traction power transformer?, R OIdR
R @t urufid ok fgdiad diees e @ g

A. 220/20 B. 132/27 C. 220/27 D. both b&c B3R ¢ !



=

: ; ' gic PURIER 9B BT R Ry
61. What is the purpose of shunt capacitor bank in TSS?, TS5 |

R .
"’ QR PF D. none, ﬁ ER|

A.improve PF, PFH YU B. decrease PF, PFUCIU  C.stable,

62. How the arc quenched inthe CB? cp ® 1T & gAdi 82

A. SF6 gas, SF6 T B. vacuum, fAafa C. ail, ad D. all of the above, it
63. Which supply will be given for the working of any Numerical Relay —, fat Q0 IR ﬁ—(}' %

P woTelt & Rg B @ @ & o
D. None of these, SWRiad § I ﬁé

A. 1‘1OV DC B. 230V AC C. 24V DC

64.In a TSS, the combined resistance of the earthing system shall NOT be more than, Ts$# 3fﬁj§'

RRen 1 wige wfty soa 3 =&t g
A.10.0 Q B. 2.0Q C.050Q D. None of these, URIad H & &g =t

65. For 25KV, the minimum height of the bus bar from ground level is, 25KV f%m ¥ IR fo
S TR ¥ e SR &2

A.35m B.3.0m C.4.2m D.3.8m

66. In Conventional OHE, the area of cross section of Contact wire is, TNORNTd OHE ¥ 9y ar

%mmmmm%?

A. 100mm? B. 107mm? C. 95mm? D. 65mm?

67. what is the name of compound used for battery terminal connector ;, S} A FaeY &
fore v e @1 9 T 7 82
A.petroleum jelly, ﬁ?rf%ﬂm STt B.oil jelly, d@ Sieht C.transformer oil, TRHIR 9

D. Lubricant,

OWer car maximum speed restriction:, 8 Tad| CIR $R BT 3HfdHay

C.110 KMPH D. None of these, IWRIFd J q ??Ff

68. what is the 8 wheeler t

nfa wfasy w1 8-

A.100KMPH B.90KMPH

69. what is the maximum span used in OHE ;, OHEH® JgINT e e Sl fYpdy W )
2
D) None of these, SWRIad & I ﬁé

A) 54Mts B) 36Mts C)72 Mts
70. what type of foundation is permitted for loose soil ;, @left fﬁz‘? & fou f5w voR ¥ fa
fo srmfa 2

A) N Type B) O Type C) G type D) None of these, JU3Iad H I ﬁé :fiﬂ
of D C supply for equipments : 9¢3l IGFIN P ﬁ’TE DC @Ttﬂ%f

D) None of these, JURlad & J 37;"§ EE|

71. Battery set minimum value

®T FIaH 7 Preifeg oy

A) 88V B) 70v C) 78v



72. Material of AC catenary wire is, AC heR} R &1 ugpf
(A) Cadmium copper, w B (B) Annealed copper, Ufeg dfar
(C) Hard drawn copper HER e BT dia (D) Bronze, e

7:3. In regulated OHE, when temperature increased than tension of OHF conductors, fafafera OHE
ﬁwmomamﬁés'maaam%

(A) Increased, §¢ 41 (B) Decreased, ¥ T  (C) Remains same, a8l &A1 2

(D) Cannot say, En] &g bl

74. In AC traction, cut-in insulators are provided at insulated overlap, the distance of cut-in insglator
from the mastis, TH ¢H¥ #, Pe-§9 TWA THALS IMRAT W UeH 5w 717 3,
W ¥ Pe-3 AR B g At 2

(A)18 m (B)9m (C)a5m (D)2m

75. Which factor should be taken into account to locate neutral section?, dc® Wsg &I Tdl A

& fou 6w R B am ¥ W@ 9 Ak
(A) Signal location, v == (B) Gradient of section, SIIHIT &1 P EQ c
(C) Level Crossing gate, Tde shIGfRIT A (D) All of above, JURIGd Fat

76. In AC traction, Which jumper distribute the current between catenary wire & contact wire, Q?ﬁ

?awﬁ,ﬁqmﬁwﬁm@w%m%ﬁaﬁtﬁaﬁam%

(A) “C” Jumper, CHWR (B) “F” jumper, F SUR (C) “G” jumper, GSOY (D) “S” jumper S
SR

77. In AC traction, track bonding is done up to the distance either side from the FP, Q'Qﬁ EEFT ﬁ,

bﬂ%ﬂmﬁﬁwﬁqﬁﬁaﬂaﬁﬁ%
(A)5km  (B)3km (C) 2 km (D) 1km
78. Wind pressure red zone is, U494 Gld &d &3 %

% 140kg/m2  B)130Kg/m2 C) 150Kg/m2 D) None of these, JWIad § ¥ IS
79. Length of buried 52 kg rail at TSS is --e-eeeemeeer m, TS T g 52 framm @ 5
e, ... e

A) 10m B) 11m C)12m D)13m

80. Maximum tension length of OHE ------------- m, OHE® 3ffidaw RGICH m .......... Tt
A) 1800m B) 1500m C) 2000m D) 2500m

81. Competency Certificate given to OHE Lines Man is -, OHE TTeY B B TR THI0 U fea
o 8

A) TR-2 BJTR-3 C) TR-4 D) TR-5
82. TR-1is given to ---------rcereemeemee TR féam Srar

A) Technician, AR B) Tower car driver, CIaR HR dTdD &I
C) Sr.Technician , d9T qHMRTT D)Khalasi, Gt



83. Minimum voltage for 25 KV AC OHE is — 25 KV ACOHE & o0 gAa dieed @
A)20KV  B)21KV  C) 22KV D) 19KV

84. Maximum voltage for 25 KV AC OHE is -------,25 KV AC OHE & m G{W dleesl %
A) 28.5KV B) 27.5KV ) 29.5 KV D) None of these, JURIad H & ®I5 el

85. The ideal value of Power Factor is -, UTdR bded Pl e A g

A) 0 B)1 C)0.5 D) 0.8

86. 1HP = watts.,, 1HP=......... drc

A) 746 B) 735 C) 730 D) 750

87. Unit of Electrical Power is ------- ﬁ?ﬂ?‘l gfed &t 3’55!% % .

A)Watts, dIc B) Joules, & C) Coloumbs, PHIcied D) Henries, GERI

88. Unit of electrical energy consumption is -, ﬁ'ﬂ'ﬂ?‘[ Sol @Ud I 318 3

A) KVAH B) KVARH C) KWH D) KAH
89. 1 Foot = inches. 1 Pc=............ EE]
A)12 B)S C) 10 D) 14
90. 1 Kilometer = meter. 1 faMieR=................ R
A) 1000 B)100 C) 900 D) 800

91. In a circuit, the Ammeter shall be connected in -----, T Ifhe # qfha Gﬁ@ﬂ Sl . ... ..
A) Parallel, FHHIR B) Series, f3rgen C) Bypass, Eﬂ'g'qﬂ:l D) Shunt ¢
92. In a circuit, the Voltmeter shall be connected in ----, dieciHey oY Th e & GﬁET ST
A) Parallel, HTIY B) Series, {3 C) Bypass, m D) Shunt, ¥ic

93. 1IMQ = ohms., IMQ=............. 3

A) 10 lakhs Ohms B) 1 Lakh Ohms C) 10000 Ohms D) 100LakhOhms

94. The Meter used for measurement of Insulation Resistance is -----, 3'\3'&31:[ Uiy & A &
fou Iuam fear 99 aren Hex @

A) Tester, U&[H B) Tong Tester, At fRerifo L C) Clamp on Meter, Her W Fd9
D) Megger, TR

95. Unit of Insulation Resistance is -----, Bﬂﬁﬂ:{ TiRiy® & 3H18

A) Mega- Ohms, T-3H B) Milli Henries, ot %:l'aﬁ

C) Micro Faradas , ITBE?[ RIS D) Milli Mohos, ot ﬂ‘r@m

96. Voltmeter is used for measurement of ----, gieciHer &1 IuEn fhud AUT & m foar
ST 82

A) Current, dgY B) Power, fad C) Voltage, ey D) Energy, Sl



97. Ammeter is used for measurement of - -, T.{f?f(’,e ®1 Iuanr fead 1o ¥ fau fapmr ST

B
A) Current, TgY B) Power, wifdd () Voltage, et D) Energy, FAl
98. Ohm is the unit of ~ceececmmianiis) Riiesd fas! g?mé 3
A) Capacitance, UIRAT  B) Inductance, Y& ) Resistance, ufd@y ) Conductance, AT
99, Unit of Pressure is -------=-------z-rceeu- . adre Gl g?ﬂé %
A) Bars, eI B) Mts of water column, SI¢l WY B °H
C) mm of HG D) All of the above, JURYdd Tt
100. Unit of Charge is ---------------=-=----- I &I 3371% 2
A) Ampere, TR B) Coloumb, ®la ) Watt, dIc D) Joules, T
101, =Y a9 e AT ST 8-
P, 17 R g 15 Fam
T, 16 RyawR g 14 e
102, TTSTIST ARANT & YoM Ul B o
%, W] A e g, AEH T
103.Wﬁmﬁ%aﬁwwmmﬂﬁmﬂ$mﬂmn%mwg—
&, 3IVT 118 W YT 120
T 3;3@?{ 119 q 3gua 121
1044waﬁa§wﬁﬁaﬁﬁ@rﬁ%ﬁtwmﬁa%‘— |
&, YTl @ R
T %4 g 3G
105, R &) redY ! # “elt, Piel 3R o) ST @7 fh a¥ wieT T
oJT—
®. G 1995 Y. | 1993
T 99 1994 Y 8 1992
106. 9Re T Gfae QT ®U W Dd AL §IT AT
@ 15 3T 1947 % 25 SFAN] 1950
7. 26 STAY 1950 T 15 T 1950
107,Wﬁumﬂﬁfﬁﬂéywmn%aaﬁmﬂaﬁ—
@, I 1950 . ¥ 1957
T, 1951 € 1980
108, Hfger ﬁmﬁ%ﬁﬁaﬁwﬂmﬁﬁmﬂﬁmﬁéﬂmwﬁ%—
&, AP 351 W IUT 349
T, G 360 € UG 348
109, <ifAET AT s WAl d e fal amIg Wi 8-
&, 19 . 20
T, 21 Y. 22

110, ) & waiwr @ wERemT @ fore wividia oSt wfaf @ g SERIGIREI
g Tl B

B, 1 . 2

T3 4
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